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Divide Decimal by Whole Number

Solve the following division problems.

33.9 ÷ =

82.4 ÷ =

510.5 ÷ =

76.3 ÷ =

35.1 ÷ =

73.5 ÷ =

93.6 ÷ =

58.5 ÷ =

34.2 ÷ =

515.5 ÷ =

313.8 ÷ =

42.8 ÷ =

47.2 ÷ =

87.2 ÷ =

67.8 ÷ =

44.8 ÷ =

46.4 ÷ =

62.4 ÷ =

89.6 ÷ =

713.3 ÷ =

90.9 ÷ =

48.8 ÷ =
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Answers

Solve the following division problems.

1.333.9 ÷ =

0.382.4 ÷ =

2.1510.5 ÷ =

0.976.3 ÷ =

1.735.1 ÷ =

0.573.5 ÷ =

0.493.6 ÷ =

1.758.5 ÷ =

1.434.2 ÷ =

3.1515.5 ÷ =

4.6313.8 ÷ =

0.742.8 ÷ =

1.847.2 ÷ =

0.987.2 ÷ =

1.367.8 ÷ =

1.244.8 ÷ =

1.646.4 ÷ =

0.462.4 ÷ =

1.289.6 ÷ =

1.9713.3 ÷ =

0.190.9 ÷ =

2.248.8 ÷ =


